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QUESTION 1

After configuring an IP fabric using EBGP as your routing protocol, you notice that not all of the routes are showing up in
the routing tables. You have verified that all adjacencies have formed, and that all policies are in place and configured

properly.

In this scenario, which statement is true?

A. The routers have not been configured with the multipath multiple-as parameter.

B. The routers have not been configured using the add-path parameter.

C. The routers have not been configured using the bfd-liveness-detection parameter.
D. The routers have not been configured using the multihop parameter.

Correct Answer: D

QUESTION 2

You have configured MP-IBGP to support EVPN for your overlay network. However, you are not seeing the expected
routes on your edge devices.
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Peer: 10.255.14.182+179 AS 69 Local:
10.255.14.176+2131 AS 69

Type: Internal State: Established Flags:
<ImportEval>

Last State: OpenConfirm Last Event:
RecvKeepAlive

Last Error: None

Options: <Preference LocalAddress HoldTime
GracefulRestart AddressFamily Rib—group
Refresh>

Address families configured: 1net-vpn—-unicast
evpn

Local Address: 10.255.14.176 Holdtime: 90
Preference: 170

Number of flaps: O

Peer Th: 10.2505_.74_182 Tocal ThD:
10.255.14.176 Active Holdtime: 90

Keepalive Interval: 30

NLRI for restart configured on peer: inet-vpn-
unicast 12Z2vpn

NILF1 advertised by peer: inet—vpn—unicast
12 vpn

NLRI for this session: inet-vpn—-unicast

Peer supports Refresh capability (2)

Restart time configured on the peer: 120

Stale routes from peer are kept for: 300

Restart time requested by this peer: 120

Referring to the exhibit, how would you solve this problem?

A. The family evpn signaling parameter must be configured on the remote peer.
B. Graceful restart must be disabled for this session.

C. The group types on both devices should be set to external.

D. The family 12vpn signaling must be configured on the local peer.

Correct Answer: A

QUESTION 3
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Referring to the exhibit, what would cause the problem on VCP 0/50?

{master:0}
user@gfxl> show virtual-chassis vc-port

fpcO:
Interface Type Trunk Status
Speed Neighbor
or Ih
(mbps) ID Interface
PIC / Port
0/50 Configured -1 Down
40000

A. The VCP has been disabled through configuration.
B. The remote side is not configured as a VCP.

C. VCP 0/50 is configured as a network port.

D. The port is missing the interface hardware.

Correct Answer: A

QUESTION 4

What is the endpoint of a VXLAN tunnel?
A. DLCI

B. VTEP

C.LSR

D. VCF

Correct Answer: B

QUESTION 5

You have deployed two data centers that require a Layer 2 stretch between hostl and host2.
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Referring to the exhibit, what does a Layer 2 stretch require?

A. a VXLAN tunnel originating on the Super Spine Layer in DCL1 to the Super Spine Layer in DC2.
B. a VXLAN tunnel originating on VTEP1 to VTEP2.

C. a VXLAN tunnel originating on the Spine Layer in DC1 to the Spine Layer in DC2.

D. a VPLS WAN connection between data centers.

Correct Answer: B
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